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19/ 19/ 20/
1 3 6 7 9 10 12 12 1
ri.7 -0.3 5.6 -1.5 -1.3] p-1.5 n.a.
ro.9 3.4 11.4 6.0 0.7 p 0.8 n.a.
-5.7 -5.2 -7.3 -4.2 -4.3 -6.4 n.a.
-5.7 -5.2 -7.3 -4.2 -4.3 -6.4 n.a.
6.9 7.8 3.3 1.9 -1.0 r 0.6 p 4.3
-2.4 -3.8 -4.1 -0.7 -1.4  r-0.8 p 1.1
12,781 9,251 9,347 9,15 2,415 2,769 3,459
-7.5 -5.0 -11.4 -2. -13.7 -1.1 -0.7
7,398 5,299 5,772 5,56 1,337 1,512 1,985
-13.0 -7.7 -8.3 3. -10.7 0.5 -4.8
1,405 2,503 1,590 1,97 624 359 386
-11.9 -1.7 -42.2 -18. -7.7 11.8 -25.6
0.79 0.771 ro0.72] rosed ro.6a 0.68 0.66
-5.9 -6.1 -7.5 -7.1 -4.7 2.1 n.a.
-1.0 -0.8 -1.7 -2.4 -2.4 -1.4 n.a.
-6.2 -3.8 -2.3 -0.7 -2.4 -0.2 n.a.
-7.1 -4.4 -3.9 -3.3 -4.8 -1.7 n.a.
19/ 20/ 20/
4 6 9 10 12 1 3 1 2
594 643 400 3Sj 53 67 269
21.8 6.3 -13.5 34. 70.7 84.4 21.1
26 23 27 27 10 7 10
8.3 -34.3 35.0 -6.9 11.1 -30.0 0.0
4,107 9,810 8,092 5,5oj| 1,824 1,802 1,878
-56.9 2.3 -31.5 26. 2.6 39.0 -19.7
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141 1,021 162] 2,068
235 3,52 261 3,543
94 1,604 9ol 1,475
)
o
2 2 2
41,197 -52 200
34,356 -75 216
6,842 22 -16
21,616 22 -23
18,146 29 -18
3,470 -7 -4
18/ 19/ 19/ 20/
12 3 6 9 12 1 2
0.5 0.4 1.2 0.1 1.5 2.2 1.6
0.4 2.2 1.6 2.0 25 1.2 _1.0
)
= C D
19/ 19/ 20/
13 4 6 7 9 10 12 12 1 2
0.0200  0.0e6]  0.000[ 0.008] 0.003 -0.002] -0.002
2.174/  2.240|  2.240  2.246] 2.246| 2.244]  2.242




